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Entering and leaving for the money; he did not acquire it

Overview

X217 ruled that regarding a sale, if the seller is impatient to receive (full) payment,
the sale is not valid (unless the seller receives full payment). Md0In clarifies the
case.
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It is the view of mo01n that even if the buyer ‘pulled’ the sold item, nevertheless the

buyer does not acquire it, if the seller is TR P*511 9y -
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Unless the seller explicitly said at the time of the sale -
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‘This 712>wn should acquire this object (for the buyer), and the money owed for

this object shall be a loan by me’ (the buyer owes me the money, but the sale is final) -
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Just like by buying a field with a "vw where 2"2w" stated previously that the

seller writes in the "vw, ‘I so-and-so sold, etc. this field to him, for this amount of

money and he paid me partially and the rest is a loan, which he owes me.
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It is illogical to say that no 72°w» was made and this ruling is regarding whether
he receives a ¥ym5w "1 or not.’

Summary
An item is not acquired if the 7217 is >R 511 7V even if there was a 72°wn.

Thinking it over

! 12°wn (pulling the item bought) is one method by which one acquires 7°2070n (movable objects)
2 See ‘Thinking it over’.
3 ymow on, literally, ‘whoever took retribution’, refers to a curse which is given in a case where 1"20%un was bought
and paid for, but no 7>°wn was done and either party reneges on the sale. Legally the sale is not binding since no
m>°wn was made and the oom instituted that Pou%vn are acquired only with 172°wn (or 7max1). Nevertheless since it
was paid for (and 7MN7 72 it is a proper 1°3p), so whoever reneges on the deal is subject to this curse. It basically
states whoever punished the 712171 117, etc. (meaning '77), should punish whoever does not keep his word.
4 If we assume that there was no 712°w», so there is no issue whether or not the item is acquired (it is certainly not
acquired); it will be necessary to say that the issue here (when the 251 is 1R %011 9»V) is only whether there isa "»
v19w or not. However if there was a 72°wn then the issue here is whether the np1? is 713 or not.
5 See footnote # 2.
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On one hand M»do1n merely writes, 'R120 X', but does not explain explicitly why
the X713 1s not discussing a case (regarding a ¥y19w *») where there was no 172°wn,
but on the other hand it seems obvious that we are not discussing regarding a »
y19W, since the X7 states that he is either °1p RS (if 1R 2511 2>¥) or *3p (if he is
not >R P01 HMY); it seems quite evident from the X723 that we discussing 13, but
not ¥79w "n. Why did not 010 use this proof?!
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